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QUESTION 1

Which DB2 object limits the user\\'s ability to retrieve data from a table by defining a SQL statement in the object?
A. View

B. Index

C. Trigger

D. Check constraint

Correct Answer: A

QUESTION 2

What functionality allows users to perform a UNION operation between a DB2 table and an Oracle view?
A. Oracle connect

B. Trusted context

C. Oracle federation

D. Distributed request

Correct Answer: D

QUESTION 3

By default, a column defined as a TIMESTAMP includes which attributes?
A. No fractional digits or time zone.

B. 6 fractional digits and no time zone.

C. 12 fractional digits plus a time zone.

D. 12 fractional digits and no time zone.

Correct Answer: B

QUESTION 4
Which two statements are true about foreign key constraints? (Choose two.)
A. The foreign key constraint columns must be supported by an index.

B. The foreign key constraint columns must be defined as NOT NULL.
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C. The number and data types of foreign key constraint columns must match the parent key.
D. The columns of one foreign key constraint cannot be used in another foreign key constraint.

E. To define a foreign key constraint there must be an associated primary key or unique key in the same or different
table.

Correct Answer: CE

QUESTION 5

Which statement is true regarding constraints?

A. A table can only have one unique key constraint.

B. A table can have multiple primary key constraints.

C. Informational constraints tell DB2 what rules the data conforms to, but the rules are not enforced.

D. Foreign key constraints are enforced on the values within the rows of a table, or between the rows of two tables, by a
unigue index on a foreignkey.

Correct Answer: C

QUESTION 6

When is a mask used to limit access to data in a table?

A. When mandatory access control (MAC) is used to protect the table.

B. When discretionary access control (DAC) is used to protect the table.

C. When label-based access control (LBAC) is used to protect the table.

D. When row and column access control (RCAC) is used to protect the table.

Correct Answer: D

QUESTION 7
What is the purpose of a role?
A. To define exactly what a specific user can do within a particular database once they have been authenticated.

B. To group a collection of privileges together so that they can be simultaneously granted to and revoked from multiple
users.

C. To establish a credible relationship between DB2 and an external entity, such as a database administrator or a
middleware server.

D. To group a collection of users together so that they can be simultaneously granted and revoked specific authorities
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and privileges.

Correct Answer: B

QUESTION 8

If the following command is executed: CREATE DATABASE test What is the page size (in kilobytes) of the database?
A 4

B.8

C.16

D. 32

Correct Answer: A

QUESTION 9

Which data type should be used to store data in a column that represents money and accurately returns a two position
scale?

A. BIGINT
B. BINARY
C. DOUBLE
D. DECIMAL

Correct Answer: D

QUESTION 10

An SQL function named DEPT_INFO was created as follows:

CREAE FUNCTION degt_infol)
RETURNS TABLE (dept_id INTEGER,
dept name YARCHAR[20Y)
LANGUAGE SCIL
READS SCL DATA
BEG M ATOMIC
RETURRM
SELECT deptno, deptname
FROM departrment
WHERE deptname LIKE "5%;
EnD

What is the correct way to use this function in a query?
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A. SELECT dept_info(dept_id, dept_name)

B. SELECT dept_id, dept_name FROM dept_info()

C. SELECT TABLE dept_id, dept_name FROM dept_info()

D. SELECT dept_id, dept_name FROM TABLE(dept_info()) AS results

Correct Answer: D

QUESTION 11

Which SQL statement will allow user USERL to create a view on a table named EMPLOYEE?
A. GRANT CREATETAB ON DATABASE TO userl

B. GRANT SELECT ON TABLE employee TO userl

C. GRANT CREATEVIEW ON DATABASE TO userl

D. GRANT REFERENCES ON TABLE employee TO userl

Correct Answer: B

QUESTION 12

Which statement about application-period temporal tables is true?

A. Consists of explicitly-supplied timestamps and a separate associated history table.

B. Is based on explicitly-supplied timestamps that define the time periods during which data is valid.

C. Is useful when one wants to keep both user-based period information and system-based historical information.

D. Consists of a pair of columns with database-manager maintained values that indicate the period when a row is
current.

Correct Answer: B

QUESTION 13

What is the minimum product required for DB2 connectivity across all platforms?
A. DB2 Personal Edition

B. DB2 Development Edition

C. DB2 Connect Personal Edition

D. DB2 Development Unlimited Edition
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Correct Answer: C

QUESTION 14

What isolation level prevents dirty reads, nonrepeatable reads, and phantoms?
A. Read stability (RS)

B. Cursor stability (CS)

C. Repeatable read (RR)

D. Uncommitted read (UR)

Correct Answer: C

QUESTION 15

Which command is used to back out a subset of database changes that have been made within a unit of work?
A. COMMIT

B. ROLLBACK

C. COMMIT TO SAVEPOINT

D. ROLLBACK TO SAVEPOINT

Correct Answer: D
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